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Chapter 9
Government Intervention 

I.
Market Failure

Optimal mix of output is the most desirable combination of output attainable with existing recourses technology and social value.

Nature of market failure 

Market mechanism is the use of market price and sales to signal desired output.

Market failure is an imperfection in the market mechanism that prevents optimal outcomes. 

· Market failure implies that the forces of supply and demand have not led us to the best point on the production-possibility frontier curve.

· Market failure opens the door for government interventions.

Sources of market Failure 

There are four specific sources of microeconomic market failure:

1. Public good,
2. Externalities,
3. Market power, and
4. Inequity.
II
Public Good
Public good is a good or service whose consumption by one person does not exclude consumption by another.  
· This good is non-rival and non-excludable.
Private good is a good or service whose consumption by one person exclude consumption by others.
· This good is rival and excludable.
Examples of public goods are police, military, justice, and other services (s.a. parks) that governments provide.

The Free-Rider Problem

Free rider is an individual who reaps the direct benefits from someone else’s purchase of a public good.
A free-rider is a person who enjoys the benefits of a G & S without paying for it.  

Because everyone consumes the same Q of the public good and no one can be excluded from enjoying its benefits, no one has an incentive to pay for it.  Everyone has an incentive to free-ride.

The Problem of the Commons

The problem of the commons is the absence of incentives to prevent the overuse and depletion of a commonly owned resource.  If no one owns a resource, no one considers the effects of her or his use of the resource on others. Examples are 
· Example is gracing cattle; you do not care as long as your cattle are being fed.  Eventually we over feed, then no one can feed the cattle.
· Over fishing in the Atlantic. 
A common good is a good that is rival and non-excludable.
There are problems with the free-rider and problem of the commons:
1. It is hard to exclude those using the product for free.
2. Underproduction of public goods.
Underproduction
The market tends to over produce, but when the product is a public good, cosumers often wait for someone else to produce it.

III.
Externalities
Externality it is the cost of market activity borne by a third party; the difference between the social and private costs of a market activity.

Negative externality – It’s the production or consumption activity that creates an external cost.

Positive externality – It’s the production or consumption activity that creates an external benefit.

Types of Externalities

· Negative Production Externalities 

· Airplane noise, pollution from factories, and logging are examples all negative production externality. 

· Positive Production Externalities

· Honey and orange producers have a positive externality from bees.  The oranges get pollinated, while the honey producers obtain nectar of flowers to produce honey.

· Negative Consumption Externalities

· Smoking for those of us that do not smoke, and noises when you sleep are negative consumption externality.

· Positive Consumption Externalities 

· Flu and infant vaccinations for those how do not take them, restoration of historical buildings, and educated labor force are positive externality

The market will under produce goods that yield external benefits and overproduce those that generate external costs.

Production decision
The production decision for a corporation is MC = MR

The production decision for a government looks at the externalities not just the MC and MR.
Consumption decision 

External cost 

The willingness to consume a product is likely reflect the demand for it, and the producers will not take in to affect the social welfare.

We recognize social demand and externality cost by following formula:

Social Demand = market demand + externalities

· The problem is that people tend to maximize their personal welfare, balancing private benefits against private cost.

· Whenever external costs exist, a private firm will not allocate its resources and operate its plant in such a way as to maximize social welfare.

Social Cost vs. Private Cost 
(Marginal) Private cost (MC) is the cost of an economic activity directly borne by the immediate producer or consumer.  (It excludes externalities).
Marginal external cost is the cost of producing an additional unit of a G or S that falls on people other than the producer or consumer.

(Marginal) social cost (MSC) is the full resource costs of an additional unit to an economic activity including the cost of externalities.
The formula for Marginal Social Cost is:
MSC = MC + Marginal external cost

Hen social costs differ from private costs, external cost are equal to the difference between the social and the private.
Using the previous definitions, we can rearrange the formula to determine what private cost is in the context of society and externality. 
MC = MSC – Marginal external cost
or
Private Cost = MSC – Marginal external cost

Policy options 

The book explains the first two as methods that governments use to cope with externalities.  I am also including two other methods that government can use, and the four options are:
a. Emission Charges
b. Regulations

c.  Marketable Permits

d. Taxes

Emission charge a fee imposed on polluters, based on the quantity of pollution.

· An emission charge increase private marginal cost and thus encourages lower output.

Effects of Government Actions (cost) 

Assume that the government has assessed the marginal external cost accurately and imposes a tax on the factory that is exactly equal to the cost.

To find the MSC we do the following:

MC + T = MSC

This curve is the market supply curve because it tells us the Qs at each P given the firms’ MC and the tax they must pay.  This curve is also the MSC because the pollution tax has been set equal to the M external C. No matter what options the government is using the results will resemble that of a tax.  
Positive Externalities

Private Benefits and Social Benefits 

Marginal private benefit (MB = D) – It’s the benefit from an additional unit of a G & S that the consumer of that G & S receives.

Marginal external benefit – It’s the benefit from an additional unit of a G & S that people other than the consumer of the G & S enjoy.

Marginal social benefit (MSB) – It’s the marginal benefit enjoyed by society – by the consumers of a G & S and by everyone else who benefits from it.  It’s the sum of marginal private benefit and marginal external benefit.

Government Actions in the Face of External Benefits

To avoid the deadweight loss or to achieve a more efficient allocation of resources in the presence of external benefits the government does the following 

a. Public Provision

Public provision – It’s the production of a G or S by a public authority that receives most of its revenue from the government.

b. Private Subsidies 

Subsidy – It’s a payment that the government makes to private producers that depends on the level of output.

c. Vouchers 

Voucher – It’s a token that the government provides to households that can be used to buy specified G or S.

d. Patents and Copyrights 

Intellectual property rights – It’s the property rights of the creators of knowledge and other discoveries.

Patent or copyrights – It’s a government-sanctioned exclusive right granted to the inventor of a G, S, or productive process to produce, use, and sell the invention for a given number of years.

III.
Market power

When either public goods or negative externalities exist, the market’s price signal is flawed.  The price the consumers are willing and able to pay for a specific good does not reflect all the benefits or cost of producing that good.

The result is an underproduction of socially desired mix of output (and over production of and undesirable mix of output).
Restricted Supply 

Market power is the ability to alter the market price of a good.

The direct consequence of market power is that one or more producers attain discretionary power over the market’s response to price signals.

The problem is that once you attain this market power, people tend to use it to enrich themselves and not to produce a socially desired mix of output.

Antitrust policy

Antitrust is a government intervention to alter market structure or prevent abuse of market powers.

· The Sherman Act (1890) prohibits “conspiracies in restraint of trade,” including mergers contracts, or acquisitions that threaten to monopolize an industry. Firms that violate the Sherman Act are subject to up to $1 million, and executives may be subject to imprisonment.

· The Clayton Act (1914) outlaws specific antitrust behavior not covered by the Sherman Act. The principal aim of the act was to prevent the development of monopolies. It prohibits price discrimination, exclusive dealing agreements, certain mergers and interlocking boards of directors.

· The Federal Trade Commission Act (1914) it increases antitrust responsibility of the federal government created the need for an agency that could study industry structures and behaviors so as to indenting anticompetitive practices
IV.
Equity 
Transfer payments are payments to individuals or corporations for which no current goods or services are exchanged. 

V.
Macro Instability 
The micro failures of the marketplace imply that we are at the wrong point on the production possibilities frontier curve or inequitably distributing the output produced
The goal of macroeconomic intervention is to
1. Foster economic growth; 
2. To get us on the production possibility curve; 

3. To maintain a stale price level; and 

4. To increase our capacity to produce.
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